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Question 1
Question Type: MultipleChoice

Refer to the exhibit.

Recently, users have reported problems logging into an application with their usernames and passwords. The logs have captured an

authentication attempt. Based on the messages and errors contained, what is the cause of the problem?



Options: 
A- The sign-in redirection is sending clients to the wrong server for SSO.

B- There is a time synchronization issue between the application and LDAP.

C- Users are providing incorrect credentials when logging in.

D- The LDAP server used for authentication fails to respond to connection requests

Answer: 
A

Question 2
Question Type: MultipleChoice

Refer to the exhibit.



An engineer is implementing the response for unrecoverable REST API errors. Which message needs to be placed on the snippet where

the code is missing to complete the print statement?

Options: 
A- 'Error; The server is unable to handle your request.' 'Error:

B- The data requested has not been found.'

C- 'Error: The rate limit has been exceeded for sending API requests at this time'

D- 'Enor: The server requires authentication to complete this request.'

Answer: 
A



Question 3
Question Type: MultipleChoice

Refer to the exhibit.



Which action resolves the error for the GitLab CI/CD pipeline execution?

Options: 



A- Download the correct artifacts by specifying them in GitLab.

B- Use the python:3.9.0a4-alpine3.10 Docker image

C- Install the missing python libraries via pip3.

D- Add the absolute path to the python3 executable

Answer: 
B

Question 4
Question Type: MultipleChoice

Refer to the exhibit. Which URI string retrieves configured static routes in a VRF named CUSTOMER from a RESTCONF-enabled

device?

A)

B)



C)

D)

Options: 
A- Option A

B- Option B

C- Option C

D- Option D



Answer: 
D

Question 5
Question Type: MultipleChoice

Refer to the exhibit.



A network engineer developed an Ansible playbook and committed it to GitLab. A GitLab CI pipeline is started but immediately fails.

What is the issue?

Options: 
A- The runner task uses an incorrect parameter.

B- The Ansible playbook task has a formatting issue.

C- The Ansible playbook has an undefined variable.

D- The runner is running the wrong Docker version.

Answer: 
B

Question 6
Question Type: MultipleChoice

A developer is working on a bug fix. The existing branch named 'bugfix05328' needs to be merged with the current working primary

branch named 'prim404880077'. All changes must be integrated into a single commit instead of preserving them as individual commits.

Which git command must be used?



Options: 
A- git checkout -- --squash bugfix05328

B- git merge -- --squash bugfix05328

C- git rebase -- --merge bugfix05328

D- git push -- --rebase bugfix05328

Answer: 
B

Question 7
Question Type: MultipleChoice

Refer to the exhibit.



The cisco_devnet Docker swarm service runs across five replicas.The development team tags and imports a new image named devnet/

test:1.1 and requests that the image be upgraded on each container.There must be no service outages during the upgrade process.

Which two design approaches must be used? (Choose two.)

Options: 
A- Enable parallel upgrades by using the docker service update command

B- Ensure that the service replicas are set to a minimum of 5

C- Implement rolling upgrades by using the docker service update command

D- Ensure that the service is hosted behind a VIP with no session persistence

E- Update the restart policy of the containers to restart upon failure

Answer: 



C, D
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